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(Higher Order Thinking Skill)

(Knowledge) (Understanding) (Application) (Synthesis/Analysis) (Inferential/Evaluative)

OBJ SA-I SA-II LA-I LA-II OBJ SA-I SA-II LA-I LA-II OBJ SA-I SA-II LA-I LA-II OBJ SA-I SA-II LA-I LA-II OBJ SA-I SA-II LA-I LA-II
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 1 2 3 4 5

Mark Marks Marks Marks Marks Mark Marks Marks Marks Marks Mark Marks Marks Marks Marks Mark Marks Marks Marks Marks Mark Marks Marks Marks Marks

1 . 1(1) 2(1) 1(1) 2(1) 1(1) 3(1) 10(6)

2 . 2(1) 1(1) 2(1)* 1(1) 4(1) 10(5)

3 . 2(1) 2(1) 4(2)

4 . 4(1) 2(1)* 6(2)

5 . 4(4) 4(4)

6 . 4(1)* 3(1)* 3(1) 10(3)

15. 3(1) 1(1) 2(1)* 6(3)

Su b
Total 5(5) 4(2) 3(1) 4(1) 3(3) 6(3) 3(1) 4(1) 2(2) 4(2) 3(1) 4(1) 3(1) 2(1) 50(25)

Total 16(9) 16(8) 13(6) 3(1) 2(1) 50(25)
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9

2 50

A

1  10 1 [10]

1

2

3 125
1

3 ______

(A) 5 (B) 1/5 (C) 25 (D)
1
25

4 P(y) = y2 – y + 4  P(2) = ______.

(A) 10 (B) 4 (C) 2 (D) 6

5 ______ 

6 ______ 

7 P(x) = 3x – 2 ______ 

8

9

10

B

11  18 2 [16]

11 3 4

12 2 2
2

3
1

5

13

(i) 5t – 7
(ii) 4 – y2
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14 12x2 – 7x + 1

(2x + 1)3 

15 (–2, 4), (3, –1), (1, 2) (–3, –5)

16

(i)

(ii) X– Y–

17 x = 2 y = 1 2x + 3y = k k

x + y = 9 

18 30 6 

C

19 22 3 [12]

19 5

20 AB || CD, EF  CD
GED = 126o AGE, GEF
FGE 

21

XY MN  O
POY = 90o a : b = 2 : 3 

C 

A G F B

EC

M P

ab
X c Y

N

o
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22
1,000

4,000 4,000 9,000 14,000 
9,000 14,000

20 210 325 445

(i) 4,000 

(ii) 9,000 

(iii) 4,000 14,000

D

4 23 25 [12]

23 9 
100

24

25

a3 + b3 + c3 – 3 abc = 
1
2

 (a + b +c) [(a – b)2 + (b – c)2 + (c – a)2]


